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Warm Up

Solve the literal equation for x.
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Cumulative Warm Up

Essential Question
How can you graph a linear inequality in two variables?
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Work with a partner. Al

a. Write an equation represented by [
the dashed line. [ 2 ' v

b. The solutions of an inequality are |
represented by the shaded region. 05 ) PR i
In words, describe the solutions of {———| =5t
the inequality. S S

c. Write an inequality represented by the
graph. Which inequality symbol did you use?
Explain your reasoning.
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Exploration 1

Work with a partner.
Use a graphing calculator to graph y 2 %x -3.

a. Enter the equation y = %x - 3 into your calculator.

b. The inequality has the symbol 2. So, the

region to be shaded is above the graph of
1

y=gx- 3, as shown. Verify this by testing

| a point in this region, such as (0, 0), to make
sure it is a solution of the inequality.

\\’\em‘v(s_\_a.\ﬂrui feue for Vhak
Qoiny ¥he 4 sumodl
Neeclec).

d “U

UNeN Qiuen A Ot Suon
ps (0O » susritule iy

W and see  1f Yne

mgc‘ugdig,! 19 dnie.

Exploration 2

Because the inequality symbol is greater than or equal to, the line is
solid and not dashed. Some graphing calculators always use a solid
line when graphing inequalities. In this case, you have to determine
whether the line should be solid or dashed, based on the inequality

symbol used in the original inequality.
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Work with a partner. Graph each linear inequality in two variables.
Explain your steps. Use a graphing calculator to check your graphs.

1
a.y>x+5 b.y5—5x+1 c.yz-x-5

Bl-A1

A Shideat_peacy

)
- fad W= N+

3
‘use y-\nteceeps

3
'Sloge. Yo acapn

* X osy po'u'\‘r YO \JQ,{'\QU\‘

whion swde Yo Shade

Exploration 3

Tell whether the ordered pair is a solution of the inequality.
a.2x+y<-3,(-1,9) b.x-3y28; (2 -2)
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Example 1

Tell whether the ordered pair is a solution of the inequality.

1.x+y>0;(-2, 2) 2.4x-y25; (0, 0)

3.5x - 2y s -1: (-4, -1) 4. -2x - 3y < 15; (5, =7)

Monitoring Progress 1-4




Chapter 5 Section 6

C) Care Coneept

Graphing a Linear Inequality in Two Variables

Use a solid line for € or 2.

solution of the inequality,

does not contain the point,

\

Step 1 Graph the boundary line for the inequality. Use a dashed line tor < or >,
Step 2 Test a point that is not on the boundary line to determine whether it is a

Step 3 When the test point is 4 solation, shade the half-plane (hat contains the
point, When the test point is #or a solution. shade the half-plane that

Core Concept

Graph y < 2in a coordinate plane.
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Example 2

Graph -x + 2y > 2 in a coordinate plane.
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Graph the inequality in a coordinate plane.
5.y>-1 6.x<-4

7.x+ys-4 8.x-2y<0
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Monitoring Progress 5-8

You can spend at most $10 on grapes and apples for a fruit salad.
Grapes cost $2.50 per pound, and apples cost $1 per pound. Write and
graph an inequality that represents the amounts of grapes and apples
you can buy. Identify and interpret two solutions of the inequality.
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Example 4

9. You can spend at most $12 on red peppers and tomatoes for salsa.
Red peppers cost $4 per pound, and tomatoes cost $3 per pound.
Write and graph an inequality that represents the amounts of red
peppers and tomatoes you can buy. Identify and interpret two solutions
of the inequality.
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| Phone Message: Write a brief phone message that you would
| leave for a friend who missed today's class. Explain how to graph
a linear inequality in two variables,

Closure



